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He intended to lift the detached item — hynyons nR 7oant> o0

OVERVIEW

The &n3 stated that all agree if a person intended to pick up v17n and inadvertently
he cut 7277 that he is Mo, However if he intended to cut v1n and inadvertently
he cut 721771; according to X217 he is MY, but according to X he 1s 2>°11. There is a
dispute between "1 and 19010 how to interpret this X na.

- 421090 DX THN N2NY 1PN P> DNIYA T P20 ) 209072 Y9
>'"'w9 explained the case of TWD "W DR INM V2N IR A2 1003 Cif for
instance a knife was lying in a vegetable patch and he intended to pick up the

knife, and inadvertently he cut the 92 vegetable’. This concludes >"w15. Our Mmoo
infers from >"w" that -

- 92)N17 AR THN YIYNN NN PINNY 119133 21997 XN 19 ON
Therefore this which X271 »2X are arguing in a case ‘where he intended to cut

the 2'on and instead cut the 927’5 according to >"w" —
— 49N 92N TN 3WI9N TINNY 1397

This means he intended to cut [this] w20 and inadvertently he cut another 2272 -
- 5RAYY 59195 529507 YAWN INNR 92INN THNY AT 92NN PINNY Yax

It seems from "o that if, however he intended to cut this 92y7% and instead cut
another 221, he will be 211 according to everyone (»ax and x17).

mooin disagrees with >"wAo:
= IRINY N (3,00 mmas) TN PAD P9 91027 D 1°39Y NYP)

And the n''1 has a difficulty with >"w19, for ®X»w said in the end of %28 poo P -

' w15n means an item which is not attached to the ground or to a plant which is attached to the ground, while 7211
means a plant which is attached to the ground or to a growing plant.
2 P01 A"
3 The n"a7 M1 amends this to read, 7nm 7t w120 (instead of 7nm wion).
4 mooin infers this because just like the case of 7277 DR TNM WI2N7 X 7°2312 P1oN1 means (according to >"w1) that
he intended to pick up one w170 (the knife) and instead he cut another 121 (a plant), we must therefore conclude
that the argument in the case of 72377 DR TNM WIPNA DX TINA? P1ON1 s in a similar setting; meaning that he intended
to cut one w170 and instead cut a different 121mn.The difference in the two cases is merely that in the first case he
never intended to cut anything, but in the argument case he intended to cut (¢12n). Everything else however remains
the same; he intended to interact with one item, but he interacted with another item. See ‘Appendix’ for further
clarification.
5> He is 2’11 since he intended to do an 110>k (he was 77 7212 712 11501) and he did an 1o°k (he was nR 22177 700).
® We have inferred from >"wn that the np¥2mn is (only) if X 927 T0M 71 W20 7INR2 71503; only in this case is X327
qu1d since he never intended to do a 79871; he was 11onn to cut only 12N, however if he was 11901 to cut 77 921m»
(which is a 79K8%7) so even if he cut IR 72111 he will still be 2.
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= 11990 NN NAYNN NINTNT 9109 Nawva 1°73n) 19V 29N N9 8pabna 7pvvmn
One who is poynn» with 292917 or N1y, he is 21, since he benefitted; however if
he was povnn in a 79892 on naw he is 7we, for the 770 only forbade a naxb»

nawnmn -
= HNINIY 909 BRANN NIND VPP 1T NIND VIPHY 1219533 199NRT 120NN NI

And it is evident there (in mn>1> 'on) that »X12w exempts him from a nXvM on
NIw even in a case where he intended to harvest this fig and he inadvertently
harvested another fig; this contradicts >"w —

MooIn has another contradiction to *"w1d:
= 139V P9 YAIN PINNY 19903 N9 ¥909 (3,18 91 PN P92 1P

And later in P97 P99, (X29) [PwR 29] was w12 in a case where he intended to

throw an object four nX and instead he threw it inadvertently eight nX (even
though there is an MoK either way [four or eight]); this 7w applies -
= AN NYINY 01PN I3 9N N D
If, when he threw it, he did not say that he is satisfied wherever it will land, but
rather he specifically wanted it to land four mnR away, so he is 79 if it landed eight nnx away
(even though when it traveled eight X it also traveled the four Ny, which is [partially] what
he wanted) -
= 13989 Y95 NWYI KDY 9NN 182 PN NT 182 PIITD 12903 1595w b

So certainly where he intended to throw it in this direction and inadvertently

7 povnn means that he was preoccupied and erroneously transgressed. See following footnotes.

§ See >"wn there; X 17° 7991 0K Q1PAR VAT T DIORY MDD P TN 290 W YTIN 1109 111 297 130 .avabRa poynn
17581 297, He intended to eat the kosher fats and by mistake he ate the forbidden 271 (which was nearby).

? See "N there; 12N A2 AT AW M7 XN ,0RPR2 ININR AR IT7° RO INWR T0AWN PIDY INWRI ININR APA poynn
INWR RW N20Y nxy 9. He intended to have relations with his wife and somehow he ended up with his sister (who
was also there). 221w means he did what he wanted to do, but did not realize that it is M10X, however poynn means he
did not do what he intended.

10 He must bring a nXvr 1277 in the aforementioned cases, because he had pleasure or benefited from the 772v.

' We derive the types of n12x%n which are 0K on naw from 1owni NoXYR, and by the 1own, the work done was a
nawnn NaR» as written in 32,77 (27p°1) Mnw that nawnn Nox>H 932 MwY?; meaning is was thoughtful and planned, but
not haphazard and unintentional.

12 37> 21 there (towards the bottom of the T1my) challenges YW, how can you say poynn is "wd; for we learnt, if
he intended to pick black figs and instead he picked white figs, ¥yw> " is 2019, but according to you (?Xmw), even if
he intended to pick one fig and he picked another (of the same kind) he should also be 715, [The &3 there answers
the question.] It is evident that according to 2X1Ww he is w5 even by NAR LR 7 7IRN VIPD? 10N

13 This is case of "X 727 TAM 71 9232 TINA? 71501, where Maon previously (see footnote # 5) surmised from >"'wA
that he is ¥"2% 2°°11, however here we see that YX1w is q0D.

14 The n"a7 mman amends this to read 11501 "wK 27 7w (instead of 11501 829 7vo). Others are 'R1%29' 0.

15 In the case of 'n 72 "7 P1712 PI1on1 where it went partially how he wanted, and nevertheless he is 7109 since it was
not exactly the way he wanted, so certainly where nInX 7¥2 9771 77 72 P12 1"2n3, where no part of his wish was
fulfilled, that he will be 15
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he threw it in a different direction, where his will was not fulfilled at all, that he
will be Mo -
= 91097 9NN 921N THN 1611 929019 TINND 1199 IN

Or similarly where he was 717 92112 7301 19501 and he cut another 22172 that he

is 91W1, since his 11¥1 was not fulfilled at all. This contradicts the inference from >"w9 that 2n1
¥"12% 2°°17 MR 72372 TNM AT 2R INno.

mooIn offers his interpretation of 121717 NX TNM WY2nT nR 7m0’
- 1859331 NINYW N¥NH YIVH TINNY 199032 99291 NONT 0N 13299 NI

And it is the view of the n''1 that here (by the dispute of X271 »"aX regarding 71501
9277 DR TNM WIPNa DR INnY) it is a case where he intended to cut the w»n and

it turned out that this v15n which he intended to cut was =22y -
- 421N DAY YT PN RIY KON 11991 DXDY N1 TN

So he cut the plant which he intended to, but he was not aware that it was

"277; he thought it was won -
= 12 NVN TYNT PRIPA XTI AN D)

And X291 %°2R argue how to interpret the 2102 of 772 Rum WK -
- 0509N19Y V99 (3,0° ow) JIN POV PID2 ITYIN 239 NPY SPNY

Which X', in 928 poo P9, establishes this 7109 to teach us; ‘except for peynn’,

who is Mo from a 127p -
= 1YY MMNPT NYTN2 DN RNIN 297

And this is what it states there explicitly, when it explains the 1o of poynn -
- 21929937 X THN YVITNN NN PINNY MMV 1Y NNHWYN Na9Y

According to 829 the exemption of povn» can be found in a case where he was

22T AR N RN AR TN 3903, and -
— %915 WIYND NN N3N 119NV aNY

According to »aK the Mo of povnn is limited to a case of W¥2n77 AR 7°237% 1501,
etc. and he was 7nn the 121n, which he thought was w2n (but not for Tnm w2071 X AR 11501

16 This is presumably in a case where he had a specific intention to cut this fruit exclusively (similar to 92 2K 85 '
'MIN 9XINY apn).
17 Presumably maoin will also interpret differently the case of 9277 PR nM W2n7 AR 2372 1501, See footnote # 18.
13 1t would seem that according to the n"9 the explanation of 727 DR M Y207 IR 7°2372 11501 also means that
the plant he thought was w¥2n was actually 2211 (not like *"wn). See footnote # 4.
19 32,7 R reads, o°nn 737 O YR 1127p DX X°27) 72 RUM WK iNRYA 19X ¥797 8. They argue whether the 7109 of 1D
Po¥nn>, which is derived from this P109 applies even to a case where 121 XITW RN W07 DR 7INA2 17001 (the view
of X27) or only to a case where 121 RITW R¥N WIZNT DR 7°2077 11501 (the view of »ax).
20" »ax interprets poyna to mean only if 921 RIAW R¥A1N WIPN7 DR 72377 1901 and according to X2 it means even if
2170 RITW XA V2N DR TINA° 1501
2! This means that he realized later that what he thought was wY2n was actually 92112 (and the same for *ax).
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72 X, where according to 2K he is 2°°17) —

mooin distinguishes between two different 2°71w5 on N2W:
— 9NN 9201 THNY AT 92NN TINND 1219132 13291 22NAYNN NINDN DYLN VT HNIIYY

And ®X»w who exempted from a nXvr for the reason that it is not nawn» naxh»

that is in a case where he intended to cut this 92y, but he cut another =2y -
= 2ynaYnn DYy XH1

Where his original thought (intent) was not fulfilled.
= 269937 59571 5NN INWT 12951 KD MY WIDNT 25119PY 2490RPT 999Y INN RNYN)

And now the X9%3 later will be properly understood, for the X723 explains,

what is the case that he is a a3 without intent by other n1X%» (according to X17) -
10199529 V19290 7NAVT NIIT WNM 139977 IDINI NI 1DV 99207 )9

For instance he thought the food before him was w2 22 and he ate it, and it
turned out to be 271, he will be 2>n, which this case is exactly similar to the naw
case according to the interpretation of the n''-.

SUMMARY

According to >"w1 the cases of 121 IR TNM WIPNT DR INRY/AAAT% 1501 is where
the w150 and 72 are separate items, while according to msaoIn it was the same item
(it was 22 Ryw &¥n1) but if it was a different item he is nawnn NoX%2 2wn Mws.

THINKING IT OVER
1. Explain; where is there more reason to be Mwo; by X¥n11 wI?n7 DR TINA? 11003
2302 RIGW or by Rl SamhintaRaisizhirimmmhintal ‘|mnb ]’Dﬂ]?

2. Why do we need two 2°77°7; one, 72 Roi WK to exclude R¥n1 w1707 IR NN 1100

22 The 7105 of povynn is as mentioned previously where it turned out that the assumed 0’77 was M0°X (and we derive
this 79 from poYNK? vI9 M2 Run WX). However 78w is discussing a different case where he did not do the 7387
as he originally planned; he did it with something else. He is 15 because it is not nawn» nox» (but not on account
of the "5 of poynn which is derived from 772 Xvr WwX). See ‘Thinking it over’ # 2.
23 Seemingly X327 ™28 may also agree in this case that he is 5. They argue only if X¥w X¥PN w507 DX TINA? 11903
921n, where his intent was (only) somewhat fulfilled.
24 The n"an mman deletes the word Rp7 (it reads p% 0W).
25 R,V
26 The x7»3 is explaining a previously cited X073, which states 21 119072 K72 33w M¥A IRWIW ,NWH NIXA IRY WM
naw3a 2"Rwn. The X713 is explaining the distinction between n1¥» AXW and N2w, in a case of PN X721 MW,
27 The %13 there concludes that by naw in a similar case of 1>M% 892 3w, which is DX M WI2nA DR INAY 11501
72117 he is 1wd. In the case of 25m 12w he ate the piece that he thought was 121w (not another piece). Similarly by
1211 wI?n he cut the piece which he thought was wY?n (not another piece, as *"w1 explained it). This fits with the
n"3 w170 that 9217 DX INM WI2NA DR TINA? 11501 means N2n K1Y RN, He is 7w according to X321,
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229 XY, and two, NAWRM NIRSA to exclude MR 920 TN 7T M TN Mon12%8

APPENDIX*

There are various levels (discussed in this N1901N) when one intends to do something
with one thing and inadvertently does an M0°X.

AL T2man DR INm wona nR 722377 1502, In this case initially he is three steps away
from the Mo°X of cutting 7217, 1. He had no intent of cutting, 2. He had no intent to
deal with 7211, only w170, and 3. He had no intent to deal with this other 2217.

B. nx 221 9nm 1 wion inn o0, In this case he is two steps away from the MoK
of cutting 12171, 1. He had no intent to deal with 921, only w%n. 2. He had no
intent to deal with this other 2217.

C. "2 RIw R¥A1 wIPn TINn? o0, In this case he is only one step away from the
Mo°R of cutting 7211, 1. He had no intent to deal with 721%.

D. R 921 0m a1 9232 PR 1oni. In this case (also) he is only one step away
from the Mok of cutting 7211, 1. He had no intent to deal with the other 72mn.
This is somewhat similar to C.

It is obvious that A 1is the least 2>°11 and B is more 2’11 than A, and if B is 2*°11, then
C and D are certainly 2711.

w1 clearly states that it is in case A (where he wanted 7°237% one w170 and
inadvertently he cut another 72117), where everyone agrees he is 7».

However *"w1 did not clearly state in what case is the npY?rn between X2 »ax; is
it B or C.

n»doIN infers that *"w2 maintains that the NP2 is in B, but in [C/]D all hold that
he is 2»1. The simple way of understanding this inference it that since they both
(%27 MaR) agree by A (which is where he intended to be 231 one item and cut
another item), that he is 715, so too the NP> is in the same basic scenario where
he wanted to cut one v2n (instead of wY?ni7 PR 7°2ax17) and inadvertently he cut
another "21n.

Another way of explaining n1901n inference is the idea of the ‘excluded middle’.°
When we distinguish between two cases (as we do here; where in one case all
agree that he is Md and in the other case there is a npY%nn) we want the distinction

28 See 0" n.
2 See footnote # 4.
30If for instance we say that a person can pick up ten pounds, but not fifty pounds the ‘excluded middle’ is between
ten and fifty pounds. We do not know whether or not the person can pick it up.
5
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to be very clearly demarked with no ‘excluded middle’. If we were to say that >"wn
maintains that the np1?nn between X2 »aR is in C (where there is more cause to
say he is 2°°11), we will not know their views in B; will »2X also maintain that B is
21 or not. However if we say the np1%mn is in B there is no excluded middle we
know that A is ¥"123% 719 and C/D is ¥™3% 211 and the npYonn is only by B.

6

TosfosInEnglish.com



